

Padankan soalan dan jalan kerja yang betul.

$$29 \text{ kg} - 4.15 \text{ kg} =$$

$$\begin{array}{r} 7.10 \text{ kg} \\ - 4.5 \text{ kg} \\ \hline 2.5 \text{ kg} \end{array}$$

$$24\,850 \text{ g}$$

$$3\frac{3}{4} \text{ kg} - 450 \text{ g} =$$

$$\begin{array}{r} 29.00 \\ - 4.15 \\ \hline 24.85 \text{ kg} \end{array}$$

$$2\,500 \text{ g}$$

$$7 \text{ kg} - 4.5 \text{ kg} =$$

$$\begin{array}{r} 3750 \text{ g} \\ - 450 \text{ g} \\ \hline 3300 \text{ g} \end{array}$$

$$2.15 \text{ kg}$$

$$6\frac{2}{5} \text{ kg} - 3\,125 \text{ g} =$$

$$\begin{array}{r} 7650 \text{ g} \\ - 5500 \text{ g} \\ \hline 2150 \text{ g} \end{array}$$

$$3.3 \text{ kg}$$

$$7\,650 \text{ g} - 5.5 \text{ kg} =$$

$$\begin{array}{r} 6.400 \text{ kg} \\ - 3.125 \text{ kg} \\ \hline 3.275 \text{ kg} \end{array}$$

$$3\,275 \text{ g}$$